
 

  

 

 

B.Com. DEGREE EXAMINATION –  

JUNE, 2010. 

(AY 2003–04 and CY–2004 batches only) 

Second Year 

Commerce 

CORPORATE ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

SECTION A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

Answer should not exceed 2 pages. 

1. What do you understand by capital profit and 

revenue profit? 

 ‰»uÚ C»õ£® ©ØÖ® Á¸Áõ´ C»õ£® £ØÔ GßÚ 
¦›¢x öPõsk C¸UQÓõ´? 

2. What are the methods employed for the  valuation  

of shares? 

 £[SPÒ ©v¨¥miØS Pøh¨¤iUP¨£k® •øÓPÒ 
¯õøÁ? 
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3. Find out goodwill by capitalisation method from 

the following information : 

 Normal rate of return = 10% 

 Profits for the last three years are 

 Rs. 30,000, Rs. 40,000 and Rs. 50,000.  

Non-recurring income of Rs. 3,000 is included in 

the first year profit. Capital employed is  

Rs. 3,00,000. 

 R÷Ç öPõkUP¨£mkÒÍ uPÁÀPÎ¼¸¢x ÁõoP 

|Øö£¯øµ •u»õUS •øÓ°À Psk¤i. 

 \õuõµn C»õ£ Dmk® ÂQu® = 10% 

 Ph¢u 3 BskPÎÀ Dmi¯ C»õ£® •øÓ÷¯  

¹. 30,000, ¹. 40,000 ©ØÖ® ¹. 50,000. öuõhº¢x 

Dmh •i¯õu ÁµÄ ¹. 3,000 – •u»õ® Bsk 

C»õ£zvÀ  ÷\ºUP¨£mk EÒÍx. Dk£kzu¨£mh 

‰»uÚ® ¹. 3,00,000. 

4. A limited company was liquidated having the 

following liabilities. 

 (a) Secured creditors Rs. 20,000. (Assets 

Realised Rs. 25,000) 

 (b) Preferential creditors Rs. 600 

 (c) Unsecured creditors Rs. 30,500. 



 

 UG–577 3 

 Liquidator’s expenses amount to Rs. 252. The 

liquidator is entitled to a commission of 3% on the 

amount realised and 1
2
1 % on the amounts given to 

unsecured creditors. The other assets realised 

(apart from assets with secured creditors)  

Rs. 26,000. 

 Prepare liquidator’s final statement of account. 

 Kº Áøµ¯ÖUP¨£mh {Ö©®  R÷Ç uµ¨£mkÒÍ  

ö£õÖ¨¦PÐUPõP Pø»UP¨£mhx. 

 (A) ¤øn¯® EÒÍ Phß D¢÷uõº ¹. 20,000 

  (AÁºPÎh® C¸¢u ö\õzxUPÒ ¹. 25,000US 

ÂØP¨£mhÚ) 

 (B) •ßÝ›ø© ö£ØÓ Phß D¢÷uõºPÒ ¹. 600 

 (C) ¤øn¯® CÀ»õu Phß D¢÷uõº ¹. 30,500. 

  Pø»¨£õÍ›ß ö\»ÄPÒ  ¹. 252;  

Pø»¨£õÍ¸US ö©õzu ö\õzxUPÒ 

ÂØ£øÚ°À 3% ©ØÖ® ¤øn¯® CÀ»õu Phß 

D¢÷uõºPÐUS ¤›zx öPõkUP¨£mh 

öµõUPzvÀ 1
2
1 % uµPõP öPõkUP ÷Ásk®. 

¤øn¯® EÒÍ Phß D¢÷uõºPÎhª¸¢u 

ö\õzøuz uÂµ, ©ØÓ ö\õzxUPÒ ‰»® Qøhzu 

öuõøP ¹. 26,000. 

  Pø»¨£õÍ›ß CÖv PnUøPz u¯õ›UPÄ®. 
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5. H Ltd.  acquired 3/4 of the share capital of S Ltd. 

on 31.3.08, when the balance sheets were as 

follows. Prepare consolidated balance sheet. 

Balance Sheet 

 H Ltd.  S Ltd.  H Ltd.  S Ltd. 

 Rs.  Rs.  Rs.  Rs. 

Share capital     Fixed Assets  20,000  10,000 

  Rs. 10 each 20,000  10,000 Current assets 13,000  12,000 

Reserve  5,000  3,000 Investment in     

P & L a/c 3,000  2,000   S Ltd. 10,000  – 

10% debentures 10,000  5,000     

Creditors  5,000  2,000     

 43,000  22,000  43,000  22,000 

 31.3.08–À •iÁøh²® BsiÀ S ¼m {Ö©zvß 
3/4 £õP® £[S •uø» H ¼m {Ö©® Áõ[Q¯x. 
J¸[QønUP¨£mh C¸¨¦ {ø» SÔ¨ø£ 
u¯õ›UPÄ®. 

C¸¨¦ {ø» SÔ¨¦ 

 H ¼m.  S ¼m.  H ¼m.  S ¼m. 

 ¹.  ¹.  ¹.  ¹. 

£[S •uÀ    {ø» ö\õzxUPÒ 20,000  10,000 

(¹. 10 Ãu®) 20,000  10,000 |øh•øÓa     

ö£õx Põ¨¦ 5,000  3,000   ö\õzxUPÒ 13,000  12,000 
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 H ¼m.  S ¼m.  H ¼m.  S ¼m. 

 ¹.  ¹.  ¹.  ¹. 

C»õ£ & |mh     •u½k S¼m      

 PnUS  3,000  2,000   £[SPÒ 10,000  – 

10% Phß £zvµ® 10,000  5,000     

Phß D¢÷uõº 5,000  2,000     

 43,000  22,000  43,000  22,000 

SECTION B — (4 × 15 = 60 marks) 

 Answer any FOUR questions. 

Answer should not exceed 5 pages. 

6. A limited company issued on 1.4.02, 10,000 

redeemable preference shares of Rs. 10 each. Such 

shares were redeemable at a premium of 10%. 

Two-fifths of this issue was redeemed out of profits 

on 10.4.06. On 20.1.2008 the company issued 

20,000 equity shares of Rs. 10 each at a premium 

of Rs. 4 per share. Out of the proceeds of such 

issue, the balance of Redeemable preference 

shares were redeemed. 

 Give Journal entries to Record the above 

Transactions in the books of the company. 

 Áøµ¯ÖUP¨£mh J¸ {Ö©® 1.4.02–À 10000 «ÒuS 
•ßÝ›ø© £[SPøÍ ¹. 10 Ãu® öÁÎ°mhx. 
A¨£[SPÒ 10% •øÚ©zvÀ «mP¨£h÷Ásk®. 
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10.4.06–À A¨£[SPÎÀ 2/5 £õP® Dmi¯ 
C»õ£zvÀ C¸¢x «mP¨£mhx. 20.1.08–À  
A¢{Ö©® ¹. 10  •P©v¨¦øh¯ 20000 J¸ø© 
£[SPøÍ, ¹. 4 •øÚ©zvÀ öÁÎ°mhx. C¢u 
öÁÎ±mk ‰»® ö£Ó¨£mh öµõUPzøuU  öPõsk 
«u•ÒÍ «ÒuS •ßÝ›ø© £[SPøÍ  «mhx. 

 C¢{Ö©zvß HkPÎÀ ÷©ØPsh  
|hÁiUøPUPÐUPõÚ  £vÄPøÍz uµÄ®. 

7. The following was the balance sheet of Toys Ltd. 

as on 31.3.06. 

Balance sheet of Toys Ltd. 

 Rs.  Rs. 

Equity share capital   Goodwill  10,000 

   (Rs. 10 each) 1,00,000 Fixed assets  90,000 

7
2
1  preference share capital    Stock  25,000 

   (Rs. 10 each) 1,00,000 Debtors  30,000 

  P and L a/c 45,000 

 2,00,000  2,00,000 

 It was resolved that equity share capital of Rs. 10 

each be reduced to fully paid shares of Rs. 6 each 

and 7% pref. Shares of Rs. 10 each be reduced to 

7
2
1 %. fully paid preference shares of Rs. 7 each. 

Number of shares in each case remained the same. 
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 It was further resolved that the amount so 

available be used for writing off 

 (a) Debit balance of P & L a/c, goodwill account 

and other fixed assets to the extent possible. 

 (b) Give Journal entries and revised balance 

sheet. 

 hõ´ì ¼m C¸¨¦ {ø» SÔ¨¦ 31.3.06–À R÷Ç 
uµ¨£mkÒÍx. 

 ¹.  ¹. 

J¸ø© £[S •uÀ   |Øö£¯º 10,000 

  ¹. 10 Ãu® 1,00,000 {ø»a ö\õzxUPÒ 90,000 

7
2
1  •ßÝ›ø© £[S   \µUS 25,000 

   •uÀ (¹. 10 Ãu®) 1,00,000 PhÚõÎPÒ 30,000 

  C»õ£/|mh P/S 45,000 

 2,00,000  2,00,000 

  R÷Ç  TÓ¨£mhÁõÖ   •iÄ ö\´¯¨£mhx. 

  JÆöÁõ¸ ¹. 10 ÷|ºø© £[SPÒ •Êø©¯õP 
ö\¾zu¨£mhuõP ¹. 6US SøÓUP¨£mhÚ. 
GsoUøP°À ©õØÓ® CÀø». JÆöÁõ¸  

¹. 10 7% •ßÝ›ø©  £[SPÒ 7
2
1 %. 

•ßÝ›ø© £[SPÍõP  ©õØÓ¨£mk ¹. 7US 
SøÓUP¨£mhÚ. GsoUøP°À ©õØÓ® 
CÀø». 
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  ÷©¾® CÆÁõÖ SøÓUP¨£mh £[S •uø»U 
öPõsk 

  C»õ£ |mh PnUQß £ØÖ, |Øö£¯º 
}UP¨£mhÚ. ÷©¾® {ø»a ö\õzxPÎß 
©v¨¦® •i¢u AÍÄUS SøÓUP¨£mhÚ. 

  ÷uøÁ¯õÚ SÔ¨÷£mk £vøÁ²®, ¦v¯ 
©õØÓ¨£mh C¸¨¦ {ø» SÔ¨ø£²® uµÄ®. 

8. From the following ledger balances of Chennai 

Bank Ltd. prepare the P and L a/c for the year 

ended 31.3.08 

 Rs. 

Share capital – paid up  2,500 

Statutory reserve 1,200 

Current and deposit account  15,464 

P and L a/c (balance) 30 

Interest paid 54 

Government securities  1,200 

Other securities  1,650 

Shares  1,274 

Payment to staff-salary and P.F 148 

Depreciation of bank assets 44 

Interest, discount and commission  490 

Cash in hand and with RBI 3,168 
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Bills discounted  758 

Loans and advances 9,878 

Buildings and furniture  836 

Non banking assets  674 

 R÷Ç uµ¨£mkÒÍ  ÷£÷µk C¸¨¦PÎ¼¸¢x ö\ßøÚ 

Á[Q°ß 31.3.08  •iÁøh²® BsiØPõÚ C»õ£ 

|mh PnUøP u¯õ›UP. 

 ¹. 

ö\¾zu¨£mh •uÀ 2,500 

\mh JxURk 1,200 

|h¨¦ ©ØÖ® øÁ¨¦ PnUSPÒ 15,464 

C»õ£/|mh P/S (C¸¨¦) 30 

ö\¾zu¨£mh Ámi 54 

Aµ\õ[P •u½k BÁn[PÒ 1,200 

©ØÓ •u½k BÁn[PÒ 1,650 

£[SPÒ 1,274 

\®£Í•®/÷\ª¨¦ {v²® 148 

Á[Q ö\õzxUPÎß ÷u´©õÚ® 44 

Ámi, uÒÐ£i ©ØÖ® uµS 490 
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øP C¸¨¦ ©ØÖ® ©zv¯  Á[Q°À C¸¨¦ 3,168 

uÒÐ£i ö\´x/öPõÒ•uÀ ö\´u BÁn[PÒ 758 

PhÝ® / •ß£n•® 9,878 

Pmhh•® ©ØÖ® AøÓP»Ý® 836 

©ØÓ (Á[Q°À»õu) ö\õzxUPÒ 674 

9. Prepare Revenue Account of Star Insurance 

Company (Five) for the year ending 31.3.09 

 Rs. 

Claims admitted but not paid  42,376 

Commission paid  50,000 

Commission on reinsurance ceded 12,000 

Expenses of management  78,000 

Bad debt 2,500 

Claim paid  15,000 

P and L appropriation a/c  40,000 

Premium received  5,52,000 

Reserve for unexpired  risk 1.4.08 2,30,000 

Additional reserve on 1.4.08 10,000 

Claims outstanding on 1.4.08 27,000 
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 Note : 

 (a) Premium outstanding  at the end of the year 

Rs. 40,000(31.3.09) 

 (b) To maintain 50% of premium towards 

reserve for unexpired  risk 

 (c) Additional Reserve at 10% of net premium to 

be maintained. 

 ìhõº Põ¨¥k {Ö©zvß (w Põ¨¥k) 31.3.09–À 
•iÁøh²® BsiØPõÚ Á¸Áõ´ PnUøP 
u¯õ›UPÄ®. 

 Rs. 

HØÖU öPõÒÍ¨£mk ö\¾zuõu ÷Põ›UøPPÒ 42,376 

ö\¾zv¯ uµS 50,000 

©ÖPõ¨¥miÀ ö£ØÓ uµS 12,000 

{ºÁõPa ö\»ÄPÒ 78,000 

ÁµõU Phß  2,500 

ö\¾zu¨£mh ÷Põ›UøPPÒ 15,000 

C»õ£/|mh £[Rk P/S 40,000 

ö£ØÓ •øÚ©z öuõøP 5,52,000 

Bsiß öuõhUPzvÀ Põ»õÁv¯õP Põ¨¦ {v 
(1.4.08)  

 

2,30,000 

TkuÀ {v (1.4.08) 10,000 

{¾øÁ°À EÒÍ ÷Põ›UøPPÒ 1.4.08 27,000 
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 SÔ¨¦ : 

 (A) •øÚ©® {¾øÁ 31.03.09 – 40,000 

 (B) •øÚ©zvÀ 50% Põ»õÁv¯õPõu 
÷Põ›UøPUPÐUPõP JxURk ö\´Áx 
C¢{ÖÁÚzvß ÁÇUP®. 

 (C) {Pµ •øÚ©zvÀ 10% TkuÀ JxURk ö\´¯ 
÷Ásk®. 

10. On 31.3.04 the balance sheet of a Ltd company 

was as follows : 

Balance sheet  

 Rs.  Rs. 

Equity share capital   Fixed assets  5,00,000 

Rs. 10 each 4,00,000 Current assets  2,00,000 

Reserve 90,000 Goodwill  40,000 

P and L a/c  20,000   

5% debentures  1,00,000   

Creditors  1,30,000   

 7,40,000  7,40,000 

 On 31.3.04 the fixed assets were revalued at Rs. 

3,50,000 and the goodwill at Rs. 50,000. The net 

profits for the three years were : 

 Rs. 

31.3.04 51,650 

31.3.03 52,000 

31.3.02 51,600 
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 20% of the profit was placed to reserve account. A 

fair investment return of  10% is expected. 

Compute to value of shares by  

 (a) The assets method 

 (b) The yield method. 

 31.3.04–À J¸ Áøµ¯ÖUP¨£mh {Ö©zvß C¸¨¦ 
{ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 

C¸¨¦ {ø» SÔ¨¦ 

 ¹.  ¹. 

£[S •uÀ   {ø»a ö\õzxUPÒ  5,00,000 

¹. 10 Ãu® 4,00,000 |øh•øÓa ö\õzxUPÒ 2,00,000 

Põ¨¦ {v  90,000 |Øö£¯º 40,000 

C»õ£/|mh P/S 20,000   

5% Phß £zvµ® 1,00,000   

Phß D¢÷uõº 1,30,000   

 7,40,000  7,40,000 

 31.3.04–À {ø»a ö\õzxPÒ ¹. 3,50,000 GÚ ©Ö 
©v¨¥k ö\´¯¨£mhx. ÁõoP |Øö£¯›ß ¦v¯  
©v¨¥k ¹. 50,000. Ph¢u ‰ßÖ BskPÎÀ Dmi¯ 
C»õ£®. 

 ¹. 

31.3.04 51,650 

31.3.03 52,000 

31.3.02 51,600 
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 \µõ\› C»õ£zvÀ 20% Põ¨¦ {vUS 
©õØÓ¨£kQßÓx. •uÀ «x 10% C»õ£® Gvº£õº¨¦ 
EÒÍx. J¸ø© £[SPÎß ¦v¯ ©v¨ø£ RÌPsh 
•øÓPÎÀ Psk¤i. 

 (A) {Pµ ö\õzx ©v¨¦ 

 (B) Dmk® Buõ¯ •øÓ 

11. Write short notes on : 

 (a) Profit prior to incorporation 

 (b) Under-writing 

 (c) Section 17 - Banking Regulation Act 1949. 

 ]Ö SÔ¨¦ ÁøµP : 

 (A) £vÄUS •ß C»õ£® 

 (B) £[SUPõÚ EÖv¯Î¨¦ 

 (C) ¤›Ä & 17 – Á[Q |øh•øÓa \mh® 1949. 

12. What are the conditions to be followed before 

redeeming redeemable preference shares? 

 «ÒuS •ßÝ›ø© £[SPøÍ «mS® ÷£õx 
Pøh¨¤iUP ÷Ási¯ {£¢uøÚPÒ ¯õøÁ? 

——————— 


